Preliminary Review Problems
Math 130 Kowitz 2012

. Subtract. (522 — 8z + 1) — (822 — 2z + 6)
. Multiply. —3a%(a® — 4a + 5)

. Multiply:

(a) (6z —1)(2z + 5).

(b) (2a —7)% — 30.

. Divide. 7223 — 3222 + 8z

8z

. Factor.

(a) 322 —175

(b) 922 — 30z + 25
(c) 22 +z—12

(d) 1222 — 17z — 40

. True or false?

(a) (=2)(=3) =-(2)B)

. Simplify.
ab — b?

(2) 5ab — 5a?

z—2 22-6zx+9
(b) —% —5—

x—3 T 4
z—1 .:z:2—1+ 1
224+4° z+2 41
2r+y  z+5y
T+2y zx+2

T -7 1




PROBLEMS - PRELIMINARY REVIEW

8. Solve for z.

(@) 242 =2
7T x—1 21

b 2+ 2o =7

(© %i%:f

@ rir=7

Is this answer just the reciprocal of the previous answer?
9. Solve for z. 2z +5(x —7) =59 — (3z +1).

10. Solve for z. (real number solutions only)

)

)
(c) 22 —52x—84=0
(d)

)

)




